LF =3/ A hay s ) — MO EE

B

2024

No.

#F 4 A

1 H

WEmEAE= 7 ) — FRAa
JE I W R A T S P T 45 i 2393 — 1

TEL:0845-27-0022

FAX:0845-27-0030

| EAHEES | EE

T F 4 i
At £ Hs
WA T oE B

A EA o A W

SA11H~6A10H,9A21 H~127 10 H O ITEAERL S, 2L O 3B MO fidk,

a7 U — b OFIALE T

i & o B O &
a7 JU—hFrD R A7v7" RAZATY7" To—| MBMORKRE | B AL OB
oy | BB KSR - cm mm Wk BEE
L i 27 12 20 BB
B~ A FORE O ML R LB O B KT IO R R ik
% | AMORE B BT RHAL FE T A Y A RS BB
H - DIk
FHOT AR Y U A FUSHEC L DRy 5 AT B L2 Rl (13 E PR ENGY iyl 3 —  ke/m
fe IKDX 5y A B (2GR ay 7Y — hOIRE e Ak — T
1T RFRT R o0 FAE K OV A A O FRRE R OV & A ek | K& A o b o BEEfE o EFR 55 %
i AL & A 0.30 ke/m LA T | BALAKED BFEMED EIR —  ke/ni
o | FFOSRIE & RGET 2 M 28 | Wl A Mo B RIED Rl — ke/m
= IEHAEE O EIR
TR 4.5 % | WREMEE D AT L TR KR — cm
i A M B
AN |EFEZL| UBE =2t X v MEEH B g/cni 3.04 | Na:Oeq % —
BAAT | B — \@iﬁﬁ — B g/ — Na:Oeq % —
= T/WJU/M]&}/J\L;‘I‘E e Mok =R 34“\}‘?1-7‘ 3 AL /N B
D B g/cn
| FEH L chply |TORE|T | R e | BlAR
# K] fmaE | S Pl | g | Mg | Fg | OREH%
an | O [ LA VLT 3 A BT R A | bFIE 5 2.90| 2.5 | 2.56 —
B\ O | Wewb KAy B A LH EFITERIILGR | A | EAZ LAk 5 2.80 ] 2.63]2.66|7.0£2.0
w® - - - - - S R -
g | O | A 1505 | ST TH AT E A | b 15~ 5| o ol — [272]0.5205
B @ | #Bem2010 | ST ET PE A | bk 20~10 ’ — | 2.72
w® - - - - - S R -
BFAIO 04, Z7ua—1 w7 SV10 i | AEJUKA HEHER 1FE Na:0eq 0.6
BRAQ| — S| — % —
W OB R 0.001 % [R5y [ ok - mIA CEREA) [Einyy B E] — %
ISR 4 R 7| - ECE — | mERAT Y VAOHAD  F -
) = * ke/m
v AN BRI K AEMO | MEHO | MEHQ | HEMO | HEMO | HEHO | BAAO | BFFO
323 - 171 545 242 — 407 610 - 2.26 —
KA B 53.0 % | kEAMIE | - % | MEHE 1“8 %
B3 1S MRS R  I LA fD = 70130

HEMIEAS L (HE

@ EFREER S & L CRIr T O, IRFA OB RO REHE,
®. 58 6 H11H~9H20H +20%
BHMOEERSEA, BRMAIOFEHEIZONTIE, WO R LICEETIRAND 5,

AH 12H11H~3H10H -20%

A7 1505 A 2010 =

40:60




LS 4 —3I A bary 7 — A EEE

No.

i & o & & &K

Y7 U—FD R A7v7" RAZATY7 To—| MBMORKRE | B AL OB
OS5 @*ﬁ kAR E - cm mm Wk BEE
L i 27 12 20 BB
a1 ) - OB EEE & — ke/mi | 22K & 4.5 %
7| 2 -t iR E ik — C | IRFIA B O FEEE K OViF H & -
TE | FEORBE A {RFES 5 4 1 28 B | 7o) BOS Pl et 38 o J57 1 BB
= | KUy o BHEEO BIR 55 % | HATYAY MO BEEE O TR T B Ao 1R —  ke/mi
1g | ALK B EE O 1R - ke/mi | ML) & A B 0.30 ke/miLLF
EN LR DAT/7" B K E — cm
EENfRER v WMTHDOERKIZLY 10. 0 %
%Ui‘éﬁé'f?fﬁ;}}& (07 a = # = 1.25 o — 125
. 2.0XV
100
Pl A 5 m m = a X SL = 1.25 X 27 = 33.8 33.8 N/mit
KA R W/C | m=a + b X C/W = -15.00 + 25.90 X C/W
B b B 25.90 B o
W/C—mia = 338 1 1500 X 100 = 53.0 53.0 %
BN K B W YTHOEBIZLY 171 ke/md
L e W 1 B .
= X = X =
HifrE AL bE C C W/C 100 530 100 323 323 ke/m
Cv Cv = C =+ ZEE = 323 ~ 3.04 = 106 106 @/m
Ry A A = BEHARE X Z=BRE(%) = 1000 X 4.5(%) = 45 45 @/m
HEMMMNSERE | Gv' | YLHOEKICLY (FEFEE=59.0 %) 0.634 m/m
BB M & Gv Gv=0"IFBEXEREE (%) = 634 X 59.0(%) = 374 374 ¢/m
G G = Gv X EE(@2.72) = 1017 1017 ke/nd
G1 DGl = G X 40(%) = 407 407 ke/m
G2 @®G2 = G X 60(%) = 610 610 keg/m
BN A B A = Sv Sv=RFHAFE - W+Cv+Gv+A)=1000— (1714 106+374+45) =304 304 @/m
Svl | ®Svl = Sv X 70(%) = 213 213 ¢/m
Sv2 | @Sv2 = Sv X 30(%) = 91 91 ¢/m
S1 DS1 = Svl X #E(2.56) = 545 545 kg/m
S2 @S2 = Sv2 X HEE(2.66) = 242 242 ke/md
FE R 2 s/a S/a:SVSfVGV X 100= %xwo: 44.8 44. 8 %
BN IR FNA & AE AE =CX¥EIME(%)=323X%0.70(%) =2. 26 2.26 kg/m

i & = ke /m

v AN R 7K HMEMO | MEMO | B | HEMO | HEHO | HEHO | BFAIO | EAO
323 — 171 545 242 — 407 610 — 2.26 —
Kt AL M 53.0 % | KESAMIE \ - 9% Wb 44.8 %

ik




